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AN UZRZ2J-FAF BMESHLIEFEZHCT, 49~T4DERZNIIOVT
A~DDH L SR BEWREZ 2 —0EY, ABEROZD2 (VA=)
A LL &, MEIRA), B), Co3HEHIIH,»NLTWT, EET226MTY,
WTNOMED —F L2 2D TEEtA, MELZHERRALS, 2L
MREZLZALZ SV, —MOMERFMIZH 0 TT, MEMFIZAEZNL L
FWwTL I,

(A) Listening 1 ~10(49~58) TlX, KR T T Y 20H L IZHEHMA B E T T
DT, TN TAHARDBYULRER TET LRIV,

Example
(A) Because she is always late.
(B) Because the movie will start soon.
(C) Because the busy roads may delay them.

(D) Because the man will not wait any longer.
Listening 1
49. (A) At the station. (B) At the menswear store.

(C) At the café. (D) At the department store.

Listening 2

50. (A) It's the wrong size. (B) TIt's too dark.
(C) It's too expensive. (D) It's the wrong style.
Listening 3
51. (A) Romanesco. (B) Potatoes.
(C) Garlic. (D) Curry.



Listening 4

52. (A) She can't find the professor’s mailbox.

(B) She hasn't typed the assignment.

(C) She has finished it too early to submit.

(D) She doesn’t understand the question.

Listening 5
53. (A) Cakes. (B)

Listening 6
54. (A) Central Station.

(C) Bridge Street.

Listening 7

55. (A) He will catch the train on Saturday morning.
(B) He will ride the last bus on Friday night.

(C) He will take a taxi on Friday night.

Cookies.

(¢

(B)
(D)

Tea.

Green Mall.

(D)

City Stadium.

Jam.

(D) He will be driven by the woman on Saturday morning.

Listening 8

56. (A) His car can be picked up today.

(B) His car needs a new part.

(C) His car has been fixed early.

(D) His car repair will take one week.

Listening 9
57. (A) 3.8 billion yen.
(C) 500 million yen.

Listening 10
58. (A) 10:50. (B)

1L1:15.

(B)
(D)

©)

2.8 billion yen.

25.4 million yen.

11:30.

(D)

11:40.



(B) Listening 11~12(59~63) Ti&, EFEZH T, RIS A-ERIIH 3 55K
LB LB R BN E Vv, 4B, Listening 11 1ZI3ERA ">, Listening 12
WIZEBMA =250 3, BHEIIH D THA

Listening 11
59. What musical instrument will the boy get?
(A) A saxophone. (B) An electric keyboard.
(C) A set of drums. (D) A bass guitar.
60. How much in total will the boy have to pay towards the cost of the

instrument?

() $50. (B)  $100. (C) $150. (D) $200.

Listening 12
61. What was the man’s original destination?
(A) London. (B) Seoul. (C) Osaka. (D) Nagoya.
62. On what day will the man’s luggage arrive at the airport?
(A) Friday. (B) Saturday. (C) Sunday. (D) Monday.
63. What piece of luggage belongs to the man's daughter?
(A) A green suitcase. (B) A grey rucksack.

(C) A pink suitcase. (D) A red suitcase.



(C) Listening 13~14(64~74) Ti, ¥EFEZMWT, ZHIIHN LT, IR S
K XORNELIE LITHIXA) TRUE %, 1EL < ZIF41UEB) FALSE ## 07% &
W, %8B, Listening 13 IZIXFEAYH D, Listening 14 IZIZ[HEN SO H 0 F
T, BlEIEH D A

Listening 13

You will hear a tour guide giving some information to listeners. Look at
the 5 sentences below. Decide if each sentence is TRUE or FALSE. If it
is TRUE, choose (A). If it is FALSE, choose (B).

04.

69.

66.

67.

68.

The Happy Valley Apple Farm is not the largest apple farm in the
region.

(A)  TRUE (B) FALSE

The Happy Valley Apple Farm grows both crisp and soft apples.
(A) TRUE (B) FALSE

The crisp apples are harvested in October.

(A} TRUE (B) FALSE

The crisp apples are sold in supermarkets all over the country.
(A) TRUE (B) FALSE

The Happy Valley Apple Farm apple juice is sold online.

(A) TRUE (B) FALSE



Listening 14
You will hear a woman called Mari talking to a man called Darren. Look
at the 6 sentences below. Decide if each sentence is TRUE or FALSE. If
it is TRUE, choose (A). If it is FALSE, choose (B).

69. The new steakhouse is near the train station.
(A) TRUE (B) FALSE

70. The woman’s graduation party was at the Thai restaurant.
(A)  TRUE (B) FALSE

71. The food is not expensive at the Thai restaurant.
(A) TRUE (B) FALSE

72. The woman will be paying for everyone’s dinner.
(A) TRUE (B) FALSE

73. The mother’s birthday is on Saturday.
(A) TRUE (B) FALSE

74. The woman will make a reservation for six o'clock.

(A) TRUE (B) FALSE

=T & B
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